Worksheet - Pronoun-antecedent agreement

A Pronoun is a word that takes the place of a noun (For example: he, she, it, they).
An Antecedent is the noun that the pronoun refers to or replaces.
Pronoun-Antecedent Agreement is a rule where a pronoun must agree with its antecedent in gender and number
Example:
‘The boy lost his mother.’ 

Explanation: 
Both ‘boy’ and ‘his’ are masculine and singular, so the pronoun ‘his’ is agreeing with its antecedent ‘boy’ in gender and number.

1. Fill in the blanks with your choice of antecedents according to the given pronouns.you.

a. There is a cab outside waiting for               . It will be your ride for tonight.
b. Class two has very talkative ___________________. They never stop talking during their classes. 
c. My ______________ don’t like winters. The cold makes their feet numb.
d. The _______________ will fix the computer as it is his expertise.
e. The doctor said that ___________ have an iron deficiency. He must have noticed that my skin is very pale.
f. The _________________ drove the bus so fast. His driving is very rough.
g. The _______________ filed a report against the company. They demanded a raise in their salaries due to inflation.
2. Underline the correct pronoun for the antecedent in each sentence.

a) The baker baked the cakes. Her cakes are always delicious.
b) Salma completed her book before she went to bed.

c) The students finished their homework because they worked hard.

d) The dog chased its tail until it got tired.


e) The teacher explained the students a lesson, and then he gave them some exercises.


